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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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MathConceptition 2021

For questions 1 to 10, the answers must be expressed in integer
or decimal.

HE1ZE10 8, EXVAMUEEES/NMERT

D)

2)

3)

4)

5)

6)

7)

8)

9

10)

11 x11=7

95+19=7

488 x 25 =7

999 =37 =7

(1200 — 60 x 8) + 15 =2

(279 — 63) x (84 + 14) + 24 =9

6.35+2.7-3.001 =7

9.9x6.7=7

0.2x04x08=7?

0.008 x 0.0005 =?

[17%0]

[17%0]

[17%0]

[17%0]
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For questions 11 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BE 11 Z215 &, ERWAUETH. BHAFTHERT

11) Evaluate ;Z sy A3 [1%]

24 24

il 19 5 13
= . + o
ks 24 24 24

12) Evaluate 152 AT 4§ [1%]

13) Evaluate4—> —2-L +33 [1%]
9 "6 8

N 5 1 3
842 2 +3 2
-] 5 - 2
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14)

5 5
Evaluate 5 x4 : 1%
valuate 6 7 [1%]

a 5_X4_o
RTE S =

15)

Evaluate 3 % a1 [1%]

10

sree o, 3 T
n+%—3112100

16)

Write down the number “five hundred million three [2%]
thousand and seven”.

Bl [ARFE=FFt] KARPHF.
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17)  Find the area of the following parallelogram in cm?. [2.1%]

AT THERENERE S DEHFER?

9 cm

|
|
11 cm i9cm
|
|

—_—_ = -

18)  Find the area of the following trapezium in cm?, [2.2%]

UTHERNEEEZDFEREKR?

5cm

20 cm:
|

Tl

11 cm
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19) If the side length of a square is 1% cm, then what is the [2.3%]

area of the square in cm??

W%Eﬁ%méﬁglé-@*,mﬁemﬁ%%z

DT FHER

20) How many hours are there in 2 % days? [2.4%]

2% *EZ DN

21) The perimeter of a rectangle is 30 cm. Its length is 9 cm. [2.5%]

Find the area of the rectangle in cm?.

—ERAEZHERZ 30 EX, RE 9 EX, HiEHE
RATEHEREZ DFEREK?
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22) Cistothe ? ofE. [2.6%]
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23) A cloth costs $21.40 per square metre. Mandy bought [2.7%]
3.6 m? of the cloth. How much does she need to pay?

HHEEFARE 214 T, NEEET 3.6 FHKE
®m, Bz bL?
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24) The lengths of the three sides of a right-angled triangle are [2.8%]

5 cm, 12 cm and 13 cm respectively. Find the area of the
right-angled triangle in cm?.

—EAERZATNZGEDAR 5 EX. 12 EXM
13EX, BEEER=ATLNERRZDEFEK?

25) The area of each face of a cube is 49 cm?2. Find the volume [2.9%]
of the cube in cm?3.

—(EEFESEEMNERERE 49 FHEXK, BZER
REHERERZ DI AFEKR?




26)
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The base of a triangular tablecloth is 12 cm long, which is
3 cm shorter than its height. The area of this triangular
tablecloth is the same as the area of a parallelogram
shaped tablecloth. If the height of the parallelogram is
5 cm, how long is its base in cm?

—R=ATMAHEKRR 12 EX, LkEE 3 EX. FE
REATATHNERBER —REITHEREHR
iR, METOEEHNER SEXR, BERRSDE

\If?

[3%0]

27)

The figure below is formed by two squares of different
sizes. Find the area of the shaded part in cm?2.

TERHEMEXNMNBBEREHEIMAR, HEEER
THEEEZDEREK?

18 cm

[3.1%]
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28)  Which 3-D shape has 7 faces and 10 vertices?

W —{E B2 E F28 7 [EmEFn 10 ETR?

[3.2%]

29) Half a dozen eggs cost 16% dollars. If a hen is 13 %

times as expensive as an egg, how much do a hen and

half a dozen eggs cost altogether?

AR 16%7_5, M—ERNEEE— RS

1 -~ oo Tk A V4 75 —
H 135 f&- ME—SHMFITHRELES DT?

[3.3%]
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30) Arectangular prism is 30 cm long, 18 cm wide and 12 cm [3.4%]
tall. John cuts it into a number of cubes of the same size.
At least how many cubes are there?

INRIE—ER 30 EX. B IS EX. & 12 [EXE
RAEDERETEXNERBNEFE. Bl
BEFEZ/DE?

31) Ifitis 15 : 00 now, what time will it be after 2900 hours? [4%]
(Give your answer in 24-hour time)

INSRIVERE 15:00, ARAE 2900 NEFZHIBFRIZ EAE?
(&BFW 24 INEFFIRT )

P10
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32) Find the units digit of 72%, [4.1%]
K 7202 BB AL ELE

33) John took an airplane. The duration of the whole [4.2%]
journey was 3 hours and 30 minutes. He took the
first photo when the plane took off. He took one
more photo every 14 minutes thereafter. How many
photos did John take in total?

INBASRIERME . EFERAT 3 /MIF 30 7. M
MREERNFHER T —RkEB R, Z&8FE 14 o
ERH—RRR. AABRERTERISDR?

P11
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34) Find the value of 5+ 14 +23 + 32+ ... + 2012 + 2021. [4.3%]

KS+14+23+32+...+2012+2021 HI1&E.

35) Inthe figure, B and E are points on AC and DF respectively. [4.4%]
The area of ABED is 28 cm? and DE : EF =4 : 3. Find the
area of rectangle ACFD in cm?2.

B, BFfE 4R AC #1 DF _EHIE. ABED HHE
FEE 28 HFEN¥, DE:EF=4:3, Bl&=7AF ACFD

HEREESVFEFEX?
A B C
D F

P12
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36) A positive integer will give a remainder of 4 when divided [4.5%]
by 5, a remainder of 5 when divided by 6, and a remainder
of 7 when divided by 8. Find the smallest possbile value
of the integer.

RIEBHERLL S8R 4, BRELOER S, FRIA B &R 7 » [

RERNESD?

37) If both the length and the width of a rectangle are increased [4.6%]
by 4 cm, its area will increase by 332 cm?2. Find the perimeter
of the original rectangle in cm.

MR—ERAEHNRMEREM4EX, ERNEEE
M3 EHFER. BEFARAEHARES VE

\I(?

P13
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38) From 1 to 2021, how many numbers are multiples of 3, 8 [4.7%]
or 10?

H1ZE2021, BZ/MEHFEL 3. 83 10 AEE?

39) John walks from point A to point B. If he can only walk [4.8%]
towards the east or the north, how many different paths can
he choose?

/MHE A BRZERI B B, iR R eEmREK AL E
et 8 % DM AN B R B AR AT LLIE # °

o U N NN NN NNy,
~.l- . W

P14
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40) Fill in the circles below with the integers 1 to 15. Each [4.9%]
integer can be used once only. The sums of the three numbers
on each straight line must be the same. Find the sum of all
possible values of V.
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